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SN BATD
M 49l Mool M2 HD B (STHYSM/SY - &)
ol YRR YBS S4 (Sl &2)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
=47 14,319,940 2,770,904 1,549,036
=2 4,801,017
3 50,000
| 6,338,361
= 3,130,562
AR SaQio M2 D YESH(SYHYRLN /5 -5 14,285,480 2,740,594 1,544,886
)
= 4,801,017
=l 50,000
| 6,338,361
= 3,096, 102
AR YE T4 196,400 182,500 13,900
ZOLXI A AHOHE ALY (ROFEI E K| R) 60,000 60,000 0
308 KHXICHHI SO & 60,000 60,000 0
01 MXSHHZAHSES 60,000 60,000 0
© % 0L XI 44 A OHE A& 60,000
BHRUUC R4 136,400 122,500 13,900
202 01t 11,000 7,000 4,000
NIETE 11,000 7,000 4,000
CEELLI=N-EES 11,000
308 X+XI IS Ol & 125,400 15,500 9,900
01 MASHHBHSES 125,400 15,500 9,900
OURNES LS WY 125,400
YRS - UE - YANY S 148,150 230,750 82,600
G A 20,000 55,500 35,500
308 XHXI IS Ol & 20,000 30,000 ~10,000
01 MXSHBABES 20,000 30,000 10,000
OHFIETISS 2R 20,000
UAYY YK YBLHUC T4 74,000 95,000 A21,000
202 01t 4,000 5,000 A1,000
01 =Uj0itl 4,000 5,000 A1,000
OYETUS AREF 4,000
403 RHXISHH SRH20IH 70,000 90,000 20,000
01 IXSHK2SE 70,000 90,000 20,000
OUAHHYX YELUCS 70,000
SHAIL B0H3 39, 150 65,250 £26,100
403 XX SIS K20/ 39, 150 65,250 26,100
01 MXSHAZDE 39, 150 65,250 26,100
OYHAIL B0H3 39, 150
HeRE S8 M2 15,000 15,000 0
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_ _ _ Muo
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403 XtXISHAIS XH2 0 15,000 15,000 0
01 MXSHT2SE 15,000 15,000 0
ONURE EYH D 15,000
oS0t BEOHE X 5,590,929 4,590, 189 1,000,740
3 504,000
3 50,000
| 4,129,185
= 907,744
ZAR A A B 25 (27) 2,920,000 2,500,000 420,000
| 2,500,000
= 420,000
308 X+XIEHHI SOl & 2,400,000 1,900,000 500,000
| 2,100,000
= 300,000
01 MXSHHABAHEES 2,400,000 1,900,000 500,000
OAZ2IX HEH % BXt- HAHE 2,400,000
| 2,100,000
= 300,000
403 XHXIGHAIS XH2 0/ 520,000 600,000 80,000
| 400,000
= 120,000
01 MXSHT2SE 520,000 600,000 80,000
OALH FHl X 520,000
| 400,000
= 120,000
ZAALEOBAL(2D) 537,600 300,571 237,029
3 504,000
= 33,600
403 XHXIGHAIS K20/ 537,600 300,571 237,029
2 504,000
= 33,600
01 RXISHT =S E 537,600 300,571 237,029
OFA N Wity Al&ax| 537,600
= 504,000
= 33,600
SNLRIA(2D) 1,768,829 1,271,118 497,711
| 1,629,185
= 139,644
308 XHXI IS Ol & 1,768,829 1,271,118 497,711
| 1,629,185
= 139,644
01 MASHHZHSES 1,768,829 1,271,118 497,711
0 NLRIA XA 1,768,829
| 1,629,185
= 139,644
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NE=RYPNPIETIE ST 166,000 322,000 A 156,000

202 O 9,000 5,000 4,000

01 2L 9,000 5,000 4,000
OMBMMIIE oz 9,000

308 AXIEHSOIA 121,000 245,000 A 124,000

01 MXEMISELS 121,000 245,000 A 124,000
CEEEDTI=SNESE 30,000
OSIISE AZTURE 91,000

403 XXM SA=01H 36,000 72,000 A 36,000

01 MXEMA=2EEX 36,000 72,000 236,000
O AM2IXl HZEEH 36,000

YHS LB TR 70,000 90,000 £20,000

308 XXl EHHISOI® 70,000 90,000 £20,000

01 MXEHHMBdELS 70,000 90,000 220,000
OLRENBDIYTA 70,000

MASEHEN LA &ZX 12,500 27,000 214,500

307 2120l & 12,500 27,000 214,500

04 QUSHAIE X 12,500 27,000 A 14,500
OBUBEUCH AR 12,500

EEAMNESIH 3Z¢E N 46,000 49,500 A3,500

403 AXHHSK=01H 46,000 49,500 /3,500

01 MXISMAZE = 46,000 49,500 A3,500
OBEASSI ZYUH 46,000

2E ESE EEsH 20,000 30,000 A 10,000

308 NHXISHHMSOIH 20,000 30,000 A 10,000

01 UHXSHHBLEE2ES 20,000 30,000 210,000
0B EZB Y5 20,000

UE HRsSAM 8X(22 50,000 0 50,000
= 50,000

403 A XIHHSK=01H 50,000 0 50,000
= 50,000

01 TXIEHMA=ZE = 50,000 0 50,000
OM2s=EA4E £X 50,000
= 50,000

a2 ¥ - ot e Hst 678,820 717,541 N38,721
Il 577,300
S 101,520

DIOIEFAM(=2) 613,000 617,681 A4,681
Il 543,700
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ool BAS HF - EY 23 (S &)
- _ _ HEE
SN Y CA(EH) - MRAY - BHS Ofl &t ¥ Ol & o8 Hluse
S 69,300
307 2120l & 197,200 250,000 /52,800
Il 197,200
02 QltaaE X 197,200 250,000 /52,800
©O0[= &2l 197,200
Il 197,200
308 AXIEHSOIA 415,800 367,681 48,119
Il 346,500
= 69,300
01 XM EEXS 415,800 367,681 48,119
OHHEF = 415,800
Il 346,500
= 69,300
HACCPXI =X & (=2 1) 40,320 0 40,320
Il 33,600
= 6,720
308 AXIEHSOIA 40,320 0 40,320
p) 33,600
= 6,720
01 XM EXS 40,320 0 40,320
OHACCPXI = X & 40,320
Il 33,600
S 6,720
FIIFa daigt x4 25,500 36,500 A 11,000
202 O 4,500 5,000 A 500
01 WY 4,500 5,000 A500
OFd=E 3F - 2ty H3 A 4,500
403 X HMSAH=01H 21,000 31,500 A 10,500
01 XM= EE 21,000 31,500 210,500
OFII=4 MaD|g =F 21,000
=2 ANEE 012 1,506,575 1,563, 100 A56,525
= 1,176,625
Il 6,000
= 323,950
NESEHelAIE(=21) 1,404,575 1,446,600 AN42,025
= 1,176,625
= 227,950
403 AXIEHSXH=01H 1,404,575 1,446,600 A42,025
= 1,176,625
= 227,950
01 XM= E X 1,404,575 1,446,600 AN42,025
ON=E=2=XM2lAE XA 1,404,575
= 1,176,625
S 227,950
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B 2P BAO0 MR AT UESH(SUHVLL/ = - s
el JIERL NS 018 (=EREE))
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
NosstsHdeds(=21) 6,000 0 6,000
J| 6,000
403 XX SHHSK=201H 6,000 0 6,000
Jl 6,000
01 MXISHX2EX 6,000 0 6,000
O ElYHIANEEZSH 6,000
Dl 6,000
IIEE=Xel A& 96,000 116,500 A 20,500
202 (4 6,000 7,000 A 1,000
01 =2l 6,000 7,000 A 1,000
OJEsEx NS 08 FX 6,000
403 KXIEMS K201 90,000 109,500 A 19,500
01 AXIESHMAZ2EE 90,000 109,500 A 19,500
OFHIIZSEMHEAE B3 37,500
OERL AHIEAS 52,500
s =& 6,064,606 5,456,514 608,092
= 3,120,392
J| 1,625,876
& 1,318,338
JbEEAAIY X2 (=21) 3,577,956 3,092,646 485,310
= 3,120,392
= 457,564
308 XXX SO0I& 3,532,956 2,867,646 665,310
= 3,075,392
= 457,564
01 AXSHMBAEXZ 3,532,956 2,867,646 665,310
OIS A AL (H A 3,532,956
= 3,075,392
== 457,564
403 KXIEMS K201 45,000 225,000 180,000
= 45,000
01 AXESHMA2EE 45,000 225,000 180,000
OIII=Y A EHHIXNA 45,000
= 45,000
IIFSAYEHIEAIG(21) 1,169, 168 1,169, 168 0
| 974,306
== 194,862
308 NAXHHMSOIH 1,169, 168 1,169, 168 0
Dl 974,306
= 194,862
01 MHXHANENEXTS 1,169, 168 1,169, 168 0
ONFEYEIZEANY 1,169, 168
J| 974,306




SN EATD
M3 49l Aol M2 2D B (STHYSM/SY - &)
el Ot &= (Sl &2)
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| < 194,862
IHESIMY =R 2 (2D) 639,650 628,300 1,350
| 383,790
= 255,860
307 Q1201 639,650 628,300 1,350
| 383,790
= 255,860
R EES 639,650 628,300 1,350
ONEAMTANAZE X 639,650
| 383,790
= 255,860
CEAANRRY(2D) 361,300 353,000 8,300
| 216,780
= 144,520
307 Q1201 361,300 353,000 8,300
| 216,780
= 144,520
02 pIABNBE 361,300 353,000 8,300
OEEAANALSY X 361,300
| 216,780
= 144,520
ZMEHNE N (2D) 61,200 70,200 29,000
| 51,000
= 10,200
308 KHXIEHHI SO & 61,200 70,200 A9,000
| 51,000
= 10,200
01 MXSHBABES 61,200 70,200 9,000
OUX A2HHE XX 61,200
| 51,000
= 10,200
BALULTBAISY L ASAE X2 235,332 97,200 38,132
202 OiH| 10,700 1,200 A500
IENETI 10,700 11,200 A500
OJEYS YRE 10,700
308 XHXISHH SO & 224,632 86,000 138,632
01 RXSHBABES 224,632 86,000 138,632
OZAYULEZAIZH X 20,000
OZMHAEI ASAHE X 35,000
ONEHYY NYTS 2XY N 169,632
dSyoiorE 23 20,000 46,000 26,000
206 2| 20,000 46,000 26,000
01 MEHl 20,000 46,000 26,000
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